Grass 6153 series mounting instructions

Drawer mounting Adapter for wooden drawer back 0o

30
e

4
it

Pan Head screw @ 3,5x20 mm L szt
50 50

.. B0

@ Recommendation: Wooden drawer
back and base to be fixed with
Pan Head screws 3,5 X 30 mm.

@ From a carcass width of 800 mm
onwards use a front-buttom connector.

Drawer front mounting Drawer front demounting Side adjustment Vertical cam adjustment t
(204




62959 05/2008

@10 x12mm @10x12mm

Screw-on railing

Drawer front fixing

Mounting tips:
Front fixing with press-in dowel

When using front fixing brackets with press-in dowel
the bored holes should be countersunk. Hard surface
coatings such as Melamine can shear off the dowel
membranes. This will result in a drastically reduced
Inclination adjustment holding power of the bracket. As an alternative a front

# fixing bracket with expanding dowels can be used. For
expanding dowels no countersink is needed. These
dowels offer best holding power.

drawer mounting Cabinet member boring

Drawer front boring




(64 - IN = MYS)

Inset drawer

6-N

LW - 80 mm

e B

LW - 90 mm

Set back for slide

GG "ulwu

(61 - IN = MYS)

Drawer

n 4
89

6-N

LW -74

LW

- Railing — Adapter for wooden drawer H 214 mm

(L - IN = MYS)

6-1IN

« Railing - Adapter for wooden drawer H 182 mm

215

LW-74

oy

6% ulw

GG ‘ulw

LW -74

Drawer with Railing

LW

o
E
E
~N
©
-
T
<
E
E
c £ b
L -
g i T
2 & (
3 =
§ % &
) 3 2
M © n
= s
= g 3
h=]
4 r 3
- o
% "
£ 3 5
a o Q
s
L2} U
.
8zl z€
ST R
ARG Dl 0l %
G pes
................. D s
N4

LW

LW-74

S¥

| unw

GG ‘uiw




for 40 kg full extension runners

Mounting positions for cabinet profiles ——
KV —
1 & moy RS*T« ___ for 60 kg full extension runners
)esoo bOO 00 é0édo
o|¢ o
o] D) o ollars _| | — for8okgful extension runners
i 071 350
i
R
®00|®00 00 6080
ole o .
[ e . (i 550 Recommendation: From a carcass width of 800 mm
0 onwards use a 60 kg / 80 kg full extension slide.
| H—
oTo 040 #00|®00 00 080
ofolo]o oL ¢
Fljo'o i) 0 o| 400~ _
! i 0y| 50
=7 £ =1
|
foY Yol [eY Yo! s#oo|®00 ®00 $00 40 9080
o[oflo]o oj¢p © o
@10 y o'p) o o]l o o o|| 500 -
T o T —_—
i d i DL 650
i = il T =3
23 |18 i Euroscrews @ 6,3x14mm
" L o @
128
192
224 & Wood screws @ 3,5 X 15 mm
352 aw(| @ 7mm
384
Dynamic XP 40 kg Dynamic XP 8o kg KV —>
275
< RS 2 mm -
— = 128 "1
A 350 96 18
KV — [ e AL AR 9,9,14/9.9 9.14)9. I |l 10
RS 2 mm —»fi=- (gadoaa) (= - 1 & i “T
->18 = 2 R L | = . ,7& : _t
9.14l0 L Il 10 (s} ey e O—17 )
REENL e | 450 e
t i U
o . ffesfees) =1l 500 e
- i 28
® 1 } —— ARFA] ! )437—>
Y 3 (52 $a00
N [ — o 1l 550
28 ’ — SSERS ! o (oo ml
37 le_128 |37 i H 500
224 e i ~
r J
: . — 550
Dynamic XP 60 k [ S e o 1]
y g F ol o0 T C 1 .ou : oono! (o0 ::o 600
1 [* ARFA ) S
% 450 2l (feooaa)
= T e Hee————w—try 650
-,Q 500 128 |37
224
550 352
600
All errors and omissions excepted
650

Minimum installation depth = Nominal length of runner

Inset drawer = NL+ 9

NL Nominal length of runner
LW Inside cabinet width

KV  Front edge of cabinet
RS Set back of runner
SRW Steel drawer back




